Transfer Bidding

What are transfer bids?

In short it’s a bid or call below the suit. They are generally used after your partner has opened with 1NT or 2NT. For example:

North

East

South

West

1NT

Pass

2D*

Pass

2H

Pass

Pass

Pass

Normally the 2D bid would mean partner I want to play in diamonds. But playing transfer bids it actually means bid 2H partner.

Remember your partner must announce an artificial bid (the person who opens 1NT in this case…by announcing “hearts”).

The advantage of playing transfer bids are that you generally get the stronger hand to play out the contract…which is usually an advantage.

The disadvantage of transfer bids is you can’t play in 2D, and that bidding 2D as a transfer bid gives the next hand a chance to double to show that suit…i.e. to point out a lead or to give an indication of a spot to play in.

Other sequences are:

North

East

South

West

1NT

Pass

2H*

Pass

2S

Pass

Pass

Pass

This is a transfer to Spades

North

East

South

West

1NT

Pass

2S*

Pass

3C

Pass

Pass

Pass

The 2S bid can have a variety of meanings:

A transfer to clubs.

A transfer to the minors where opener would bid 3C and the 2S bidder would then pass or correct to 3D. You might do this with 6 or 7 diamonds in your hand for instance and think it will play better than in 1NT.

Alternatively you can play this as 11 points or a transfer to the minors. Opener would respond 2NT with a minimum and then responder would pass with 11 points or bid 3 of a minor with a long minor (to play). If opener is maximum they would bid 3C to which the 2S bidder would now bid 3NT with an 11 count or pass with a weak club hand or bid 3D with a weak diamond hand.

Breaking and Bouncing!

North

East

South

West

1NT

Pass

2H*

Pass

2S

Pass

Pass

Pass

Instead of routinely transferring into the suit – if you agree with partner, you can actually bid 3S if you hold precisely 14 points (or a maximum NT) and 4 card trump support. This is known as BOUNCING...as you have gone up a level.

Alternatively you can bid 3X (where X is clubs, diamonds or hearts) to show a small doubleton, a maximum and 4 card trump support. This means partner can find a thin game/slam if they have the right hand opposite. This is known as BREAKING THE TRANSFER. It also makes it harder for the opposition to come into the bidding when your partner holds a weak hand. If you break the transfer for example…

North

East

South

West

1NT

Pass

2H*

Pass

3D

Pass

3H*

Pass

3S

Pass

Pass

Pass

Here the 3H bid is a RE-TRANSFER asking opener to bid 3S.

The 2NT bid

North

East

South

West

1NT

Pass

2NT*

Pass

3D

Pass

Pass

Pass

Here the 2NT bid can be played in different ways:

You can play it as natural showing 11/12 or 12 points precisely (if you use 2S to show 11 points).

You can play it as a transfer to diamonds.

You can also play it as showing 5/5 in the minors. This is a transfer to Diamonds or a transfer to the minors if you have 5-5 in the minors. Opener will bid 3D with Axx or Kxx or better and bid 3C if they don’t have that holding. If they just have a weak hand with diamonds they will bid 3D now. If responder has shown a holding of Axx or Kxx or better in diamonds….they might now be able to try bidding 3NT and hope they can make 6/7 tricks in diamonds and 2/3 tricks elsewhere.

Some Common Bidding Patterns

North

East

South

West

1NT

Pass

2H*

Pass

2S

Pass

2NT

Pass

3NT

Pass

Pass

Pass

Here the 2NT bid shows 11 points and 5 spades and is non-forcing. North has a maximum but less than 3 spades so decides to just bid 3NT.

North

East

South

West

1NT

Pass

2H*

Pass

2S

Pass

3NT

Pass

4S

Pass

Pass

Pass

Here north has 3 or 4 spades and decides to convert from 3NT into hopefully a better contract of 4S.

Similar when partner opens 2NT

North

East

South

West

2NT

Pass

3H*

Pass

3S

Pass

3NT

Pass

4S

Pass

Pass

Pass

3H is a transfer to spades and then by bidding 3NT they are asking opener to either pass or bid 4S.

North

East

South

West

2NT

Pass

3D*

Pass

3H

Pass

4H

Pass

Pass

Pass

Here South transfers into hearts and then bids 4H. They are showing 6 hearts and are just getting the strong hand to play the contract.

The 3S bid is often used now to show a 2 suited hand in the minors or other things!

Similar when partner opens 2C/2D and rebids 2NT

North

East

South

West

2D

Pass

2H*

Pass

2NT

Pass

3H*

Pass

3S

Pass

3NT

Pass

Pass

Pass

Here North has shown 23-24 points, but by passing 3NT only shows two spades at most as they would probably convert to 4S….although sometimes with a very flat hand you can decide to just pass 3NT thinking that you are more likely to make the same amount in NT as you are in the major…this might be the case if you are 3433, 3343 or, 3334 shape for instance.

Other Transfer Bids

Let’s say the bidding proceeds:

North

East

South

West

1NT

Double

Redouble
Pass

2C

Pass

Pass

Pass

Exit transfers are a popular method of getting out of 1NT doubled which might be a horrible contract:

So now Redouble becomes a transfer to clubs

2C becomes a transfer to diamonds (or you can keep it as Stayman)

2D becomes a transfer to hearts

And 2H becomes a transfer to spades

Again by using this method the stronger hand gets to play out the contract and it means we can also play in 2 clubs as well now.

If we don’t have a 5 card suit to WRIGGLE into we pass….which forces partner to Redouble.

This means if we are strong enough opposite the 1NT opening we can still play in 1NT doubled and redoubled. Or if we are weak we can still find the best fit possible at the 2 LEVEL – at least a 4-3 fit.

So you might have:

K10xx, xx, Jxx, xxxx

North

East

South

West

1NT

Double

Pass*

Pass

Redouble*
Pass

2C

Pass

2H

Pass

2S

Opener has AJxx,KQ109,1098,Kx

As the cards lie the defence can take the first 9 tricks, whereas in 2S the defence manage 6 tricks and couldn’t find a double of 2S.
Defending against transfer bidding
When the opposition makes a transfer bid it gives the hand a chance to double to show that suit.

North

East

South

West

1NT

Pass

2D*

Double*

2H

Pass

Pass

Pass

Let’s suppose south has A5,76, KQJ108, QJ72

In a way this doesn’t give anything away as by normal bidding the South hand would be playing in 2H and you could lead your K of diamonds anyway. What it does give you though is the chance to double to indicate some values and therefore give east a chance to bid over 2H especially if they also have a diamond holding…for example…

North

East

South

West

1NT

Pass

2D*

Double*

2H

3D

Pass

Pass

Pass

East may hold Q54, 1093, A972, K43 and the good contract of 3 diamonds is reached. Where 1 heart might make or only go 1 off for 50 or a 100. East / West are now making 110 for making 3 diamonds. Please note there are lots of options for 1NT and the South transferring after west’s double…but it is all down to partnership agreement!

For example what does this sequence mean?

North

East

South

West

1NT

Pass

2D*

Double*

Pass

Pass

Redouble
Pass

Pass

This could be played as a re-transfer to hearts.

Or this….

North

East

South

West

1NT

Pass

2D*

Double*

Pass

Pass

2H

Pass

Pass

Pass

This could be played as showing 6 hearts and a game try….as you could of re-doubled to re-transfer (but you didn’t).

Defence Bidding Their suit for takeout

North

East

South

West

1NT

Pass

2D*

2H*

Double

2S

Pass

Pass

3H

Pass

Pass

3S

Pass

Pass

Pass

South transfers and west makes a takes out bid of 2H. This cannot be natural as south has indicated they have hearts. If you had hearts yourself you would simply let them play in hearts and endure a bad break. North doubles the 2H to show a 3+ card suit.

So the sort of hand you might have would be:

AKxx, x, Axxx, Kxxx




